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QUESTION 1

What are two advantages for using NSX for vSphere\\'s Logical Switching? (Choose two.) 

A. Expands the number of available VLANs. 

B. Allows for Layer 2 switching over Layer 3 infrastructure. 

C. Distributes Layer 3 data across multiple hypervisors 

D. Provides for 10,000 logical segments. 

Correct Answer: BD 

 

QUESTION 2

-- Exhibit -

-- Exhibit -

An administrator is testing connectivity between two ESXi hosts and uses the ping utility, as shown in the 

Exhibit. 

Based on the results shown in the exhibit, which statement is correct? 
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A. Communication between the hosts is working correctly. 

B. The hosts are in separate subnets. 

C. The MTU size is too small. 

D. A logical router has not been deployed and configured. 

Correct Answer: C 

 

QUESTION 3

A network security administrator wants to monitor traffic on several VLANs configured on a vSphere Distributed Switch.
The traffic will be sent to another distributed port. 

What type of port mirroring session must be configured to meet these requirements? 

A. Select the session type Distributed Port Mirroring when configuring the Port Mirroring session. 

B. Select the session type Remote Mirroring Source when configuring the Port Mirroring session. 

C. Select the session type Remote Mirroring Destination when configuring the Port Mirroring session. 

D. Select the session type Distributed Port Mirroring (legacy) when configuring the Port Mirroring session. 

Correct Answer: C 

 

QUESTION 4

How is the Bridge Instance chosen? 

A. It is chosen based on the ESXi host where the Logical Router Control VM is running. 

B. It is manually assigned by the vSphere administrator when the distributed portgroup is configured. 

C. During an election process among all ESXi hosts. The host with the highest MAC address is selected. 

D. The VTEP configured with the highest VXLAN Network Identifier (VNI) is selected. 

Correct Answer: A 

 

QUESTION 5

-- Exhibit -
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-- Exhibit -An NSX administrator has deployed the network shown in the Exhibit. 

Based on the exhibit, which statement describes a valid method for redirecting traffic around the fault? 

A. Building this topology using a layer 2 switched fabric with connectivity between the leafs would allow traffic to be
redirected around the fault to another leaf. 

B. Building this topology using a layer 3 routed fabric with connectivity between the leafs would allow traffic to be
redirected around the fault to another leaf. 

C. Building this topology using a layer 2 switched fabric with spanning tree will provide the quickest path around the fault
to another spine when connectivity is lost. 

D. Building this topology using a layer 3 routed fabric will provide the quickest path around the fault to another spine
when connectivity is lost. 

Correct Answer: D 
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